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g5z K ouT IN GR HDCP NET =

Zh B8 = 40 38 18 8.0 70.0

#E FE RE 45 41 86 16.0 70.0
3 |EBE X 44 48 92 20.0 12.0
4 | &8 40 36 16 3.0 73.0
5 |TH &I 49 54 103 30.0 73.0
6 Al E=x 44 40 84 10.0 74.0
1 | BC 4 43 84 10.0 14.0
8 |BX ®EZ 46 46 92 18.0 74.0
9 [3kE Mt 37 40 11 1.0 76.0
10 |FRR FE 42 44 86 10.0 76.0
"=t Al 38 40 18 0.0 18.0
12 | T#H & 43 40 83 5.0 78.0
13 |®mF BT 51 41 92 13.0 79.0
14 R X 42 50 92 12.0 80.0
15 | k& FHH 40 46 86 5.0 81.0
16 |#E —F 40 47 87 6.0 81.0
17 BRIl Bz 47 44 91 10.0 81.0
18 |’ # 47 44 91 10.0 81.0
19 B4 H= 47 44 91 10.0 81.0
20 HElR EB= 50 42 92 11.0 81.0
21 |MHE RE 47 46 93 10.0 83.0
22 |RE M= 52 46 98 14.0 84.0
23 | FH R¥F 51 48 99 14.0 85.0
24 t#ElL BE 53 50 103 16.0 87.0
25 | En 50 52 102 14.0 88.0
26 |BH —E 51 51 102 14.0 88.0
21 [ R¥H B 42 53 95 6.0 89.0
28 R A 48 54 102 13.0 89.0
29 ME FA 53 50 103 13.0 90.0
30 A HRZ 51 55 106 13.0 93.0
31 | KF #MA 52 56 108 12.0 96.0
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B BB ks 41 53 94 | 30.0 | 64.0
B AR % 49 40 80 | 21.0| 68.0
3 k@ £ 44 41 8 | 15.0 | 70.0
4 |wm B 36 41 77 6.0 71.0
5 Ak =T 41 39 80 9.0 | 71.0
6 |FA 5F 40 36 76 40| 720
7 |MGET B 43 37 80 6.0 74.0
8 |dJIl fEz 38 42 80 6.0 | 740
0 At fEFE 45 43 88 | 13.0| 750
10 B% =8 47 41 8 | 120 76.0
" |BX #ME 52 46 98 | 21.0| 77.0
12 [ = 46 38 84 6.0 78.0
13 |%5F WS 43 46 89 | 10.0 | 79.0
14 |4 B— 44 42 86 40| 820
15 |l EA 51 42 93 | 11.0| 820
16 |HHE —EB 46 43 89 50| 840
17 [P A= 43 48 91 7.0 | 84.0
0P |5t 358A 42 46 88
GUEST |Hth 4£5IIE 43 43 86

MI EN 49 44 93

HFAR BX 48 46 94

wE A4k 53 56 109

HH E— 57 61 118
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